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SN EXFED
g e NH2e
ool XEMHAD FX (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORSA | fIerliel &l HLa
1,000,000& %12 1,000
HESAIXOL SHIXE GlHEES) (EERAI) 49,672 17,098 32,574
= 17,746
- 31,926
101 21AH| 16,386 4,060 12,326
= 4,660
- 1,726
M ORNZZ2NSE S 16,386 4,060 12,326
OMNESAIXI MRER & 2SS4 SHEX
AN2Z2X &= 16,386
—22k Z= 81,1963 x 12 +140 11,368
= 3,248
- 8,120
—& - 2 81,1962 x1&»3b& 2,842
= 812
- 2,030
—SXEE Y A3
300,000 *23] 600
= 600
—=0=E28RE=
14,210,000 4. 5% 640
—=ZUALYEHRES
14,210,000 %3.495% 497
—1IE2EREs 14,210,000 *1.65% 235
—MHESEE= 14,210,000 * 1% 143
- RALEHIELES
497 ,000& *12.27% 61
201 fer23| 31,216 12,318 18,898
= 12,366
- 18,850
01 AtR2tc|HI 31,216 12,318 18,898
O1. g2 30,352
—HESAIRDI}t BES==8 26,171
AHEXIDL BS
44,5002 17,0002 X1 /32 23,641
= 9,784
- 13,857
-9 A - Ol12MlE ROHEE
23,0002 1102 X| 2,530
= 1,718
- 812
—HEZ ARt 228+
70,0002 107 *43] 2,800




2M: EXNEE
Hu: zmEE K=z
ool XEMHAD FX (Shol: % 2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—IHEZAIXDIL EHIM E2HEN
181,000& *1JK 181
—ANRES 7Y 1,200
Ob. S| 864
—HEBAIRDL L= 32
8,000 x3H x9A1x4E 864
= 864
202 04d| 720 720 0
= 720
01 =WHO4 LI 720 720 0
OnHl 720
—IHESAIKIOL LA |
20,0003 *3H 3 x4 720
= 720
203 AR F&lY| 1,350 1,350
03 Al FAIH R FAIH| 1,350 1,350
OMESAIXIIL ZAF &E L RSAIAZ
Al 2IEE 22 300,000 *531%0.9 1,350
NEFR 29 L &2 48,783 874,954 A826,171
201 L2 | 33,081 32,974 107
01 ArR22elt| 20,132 19,387 745
O1. ger=2H| 19,364
—KNEMEZAAE E22 HIE
2,000& 22,5004 5,000
~NEWFAAIS ERBR 22F el
600,000 *32! 1,800
—KNEMEAL ZES ME 2B 3
39,6362 * 1202 XI*110%*2IH & 10,464
—XNETHEZAL ZHZ 2 22 (CGHH) S|
& 2 1,000&*100AH 100
~NEWEA ZEHD 2ol ZEUE 242
00,0002 *10AH 2,000
Ob. =&l 768
— K& EAALY SEEA S S|
8,000 & x6H x4 Al x4 F 768
2 S=29| 12,949 13,587 AB3B
Q3. AIEEHIR XL 12,949
—SSUSESRAIAE 2Z2H W =X
2= 12,144,000 & * 14! 12,144
~NEAD B2EE| SN2
10,059, 0002 *8% 805
202 04d| 1,440 1,440
01 =LHO4 L] 1,440 1,440
OXIETHZAAY EY AR SEH M|
20,0003 <6 H 3L x4 1,440
203 AR F=&lh| 540 540 0




A EXNEE
Hu: zmEE K=z
ool XEMHAD FX (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
R EEECESS 540 540 0
ONHEAL U NHHZAILS 27
600,0002+0.9 540
308 AHAIEMSOIE 13,722 13,722
1 SISt AS A 13,722 18,722
OXNRIIZ=E & A
13,722,000 * 14! 13,722
KIETHEALALG (2 EAL) 46,295 56,910 210,615
= 46,295
201 fer= 3| 4,283 4,415 A132
= 4,283
01 At2teltl 4,283 4,415 A132
O1. et+=EH| 4,283
—KETZAAE JIE=E FEH| 2,079
= 2,079
—NEM AN 2] 2,204
= 2,204
308 XtXIEMSO0IE 42,012 52,49% 210,483
= 42,012
1 SIS0t AS A 42,012 52,49% 110,483
OXIETHEAAG ZEH 42,012
= 42,012
CEHFAANY = 117,262 135,000 A17,738
201 Zet=3h] 17,098 28,109 A11,011
01 AtR2te|HI 15,182 26,233 A11,051
O1. eS| 15,182
—C2HEFA EEE 20 M
50,0002 100K 5,000
—S2=888 Zel” &Y
250,000 x2CH+*33] 1,500
—E2=25¥8 Telg 23(2d)
33,0002 *1CH*43] 132
— 2L SEESE M
2,000&*2,000H 4,000
—og=M 12t E2=23 MA
1,000& 1,500 1,500
—0E=H 28 R4 25 LI
300,000 %14 300
—E2EFA MEHZE SESE A
50,000 *15H 750
— A=A E MIE 2,000&+1,000H 2,000
02 S3=gl 1,916 1,876 40
O1. 332= & MAl 852
— 1828 HIINE 2
31,0002~ 12& 372
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SN EXFED
g e NH2e
Chel: NEBHYD =X (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—2A0tE KAIS ©2D] HI0IH 23
20,000 =20~ 128 480
O3. AIE€EHIRX 1,064
—dNCHEFAIAY RA22H|
266,000 432 1,064
203 R FY| 540 540
CREEEEE T 540 540
OS2HFL OIEE ME 42 27
600,0002+0.9 540
308 AXIHS0IA 55,624 25,351 30,273
11 S 2S0UeZBHASAIE 55,624 25,351 30,273
OF2EEII2k |FRAE=AY 17,438
OF2ZEAALE FA2CIAME 38,186
401 AlEHIZL SO 44,000 81,000 A37,000
01 Al&HI 44,000 81,000 A37,000
OFAZEAE 21X & 34
300,000 *50H 15,000
OFATLAIL BLZA U SNE4 29
19,000,000 * 14 19,000
O=JH8ds# &X
1,000,000 * 1074 10,000
M52 MEH, NSHAXA BHESZE XH(EX 5,000 0 5,000
Ared)
401 AlZHIZ S0 5,000 5,000
01 Al&H| 5,000 5,000
OLED EEIARI =AHEAE EX 5,000
SSAEY 24 1,440 1,390 50
201 fet= 3| 1,440 1,390 50
02 S3=gHl 1,440 1,390 50
O1. 332 & MAl 940
—AUSIA(SESE) 90,0002+ 1CH 0
—si EE2(EE5E)
560,000 *1CH 560
—&IIR BHRS 20,0002« 1t 122 240
—dIIBAE 50,0002 *1CH 50
O4. Xigf - Hdety] 500
—SEXNL R 500
HH2LIH(EXNZED) 65,972 69,672 23,700
JI2ZH(EXNHED) 65,972 69,672 A3,700
JI2ZH(EXZED) 65,972 69,672 A3,700
201 et 3| 13,988 13,988 0
01 At22t2l] 13,988 13,988 0
O1. et=ZH| 5,360
—S2A2g JI=2+Stl 2,000
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Hu: HHSAAY(EXNZ2I])
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SoT oo

chelr JI2ZU(EXNEED

RN - I BRA(E) - HRA - BES of v A
—d23=R 660
ESSIN 20,0008 x25+122 480
NN 15,0003 x15+ 123 180
—=SAEX 1,200
MEXI 20,0003 +602F A 1,200
Rt 250, 00021 +3CH 23] 1,500
Os. S| 6,912
—EXNF2Y NE 22|
8,000& x18H x441 12 6,912
C6. dxt= 1,716
—=S A 143,000 « 122 1,716
202 04| 48,384 48,384
01 2L AL 48,384 48,384
OoZu &0
20,0003 x18H 142 x122+0.8 48,384
203 SR =L 3,600 3,600
M FA2HLRFAI 3,600 3,600
OEXE=Z1 300,000 * 122 3,600




